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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-2_0
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11:05 197 150. 0 3. 24 =l BRiB@11:05 Bz (GREAERESE)
11:50 197 150.0 3.24 El BRig&e11:50 Bz (GRAAEREE)
12:35 197 150. 0 3.24 = RRiBe12:35 Bz (RAKEE)
13:15 197 150.0 3.24 =] Ri%e13:15 B (REAEREE)
13:50 197 150.0 3.24 F BRige13:50 Bz CGRAERESE)
14:25 197 150. 0 3.24 =l RRiB014:25 Bz (REAKESE)
15:05 197 150.0 3.24 =l RRiB015:05 Bz (REAEESE)
15:45 197 150.0 3.24 F BRige15:45 Bz CGRAERSE)
16:30 197 150. 0 3.24 =l RRiB016:30 B3 (REAKEE)
17:20 197 150. 0 3.24 =l RiB017:20 B3 (RAEEE)
21t 3152.0 (16)%) 2400. 0 32 3KEC: 2500.0, PH: 6.5

BEXRERLPH (10.33) 5i8EPH (6.5) IREWR K, BT
FERERIPH (10.33) 5FPH (6.5 REKK, FHE
3 [EHECE (2635. 0 vs 3830.0) RS
LRGERIEC (2613.0) S51REIEY (2250.0) REK K, BHHRE.
LORGEBIPH (10.4) 5i&FEE (6.5) RERKK, BRE.
LORGEBIPH (10.4) S5#REIEN (6.5) RERK, BRE.




G3-2_0, Day=29 (2025-06-10)
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m=390, FV0=0 m=425, FV0=0 m=480, FV0=0
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64 64
—o— ME —o— ME —e— M_E | 60.75 - —e— ME
63 63 63 60. 50 -
62 62 - 60. 25 -
62
60. 00 -
61 = 61 _
61 1 59.75
60
60 59. 50 -
60
T T T T T T T T T T T T
525 530 535 565 570 575 605 610 615 655 660 665
m=700,m FV0=0 m=750,m FV0=0 m=795,m FV0=0 m=830,m FV0=0
—o— 60. 5 63 -
61.0 1 M_E 63 —o— ME —o— ME —o— ME
i 62
62 60. 0
60. 5
61 4 59. 5 - 61 -
60. 0
60 - 59. 0 - 60 -
59.5
59 58.5 59
59.0
700 705 710 750 755 760 795 800 805 830 835 840
m=860,m FV0=0 m=890,m FV0=0 m=925,m FV0=0 m=955,m FV0=0
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G3-2

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK R

08:10 194 150. 0 3.24 |Z=| {Ri%e08:10 Bz (KREAZHE)
09:10 194 150.0 3.24 |Z=| {Ri%e09:10 Bz (REAEZEBE)
10:45 194 150.0 3.24 || {RiB010:45 Bzh (GRAERSE)
11:55 194 150.0 3.24 |2 =| {Ri%e11:55 Bz (CGREAZBE)
13:20 194 150. 0 3.24 |/hf| {Ri%e13:20 B3 (REAEZERE)
14:10 194 150. 0 3.24 FBHl 1Bi&e14:10 Bz (REAEREEE)
15:10 194 150.0 3.24 |2 =| {Ri%e15:10 Bz (REZBE)
23t|1358.0 (70%) 1050. 0 EGHKEC: 2500.0, PH: 6.5

EORGERBTHC R IR AR B E I (194 vs 242.0))

ZRIASLPRIERE120. 0 ml.

REXFEBPH (10.36) S5i&%EPH (6.5) RERK, HFHRE
REXEBPH (10.36) 5FMPH (6.5) REKKA, BFHRE

1 [EKECE (2703.0 vs 4033.0) 1B

EREBPH (10.4) 5i8EME (6.5 RERK, FHEE.

ERGERPH (10.4) S5iRBIE (6.5) RERK, BRE.




G3-2_0, Day=28 (2025-06-09)
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27 A

26

25

24 -

-— MW

H
i
=

365

370 375

m=365, FV0=0

52.5 -

50. 0

47.5 -

45.0

42.5 -

40.0 -

T T
370 375

m=695,m FV0=0

60 -

58 -

56 -

54

61

T T
700 705

m=920,m FV0=0
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m=695, FV0=0
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32 -
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29 A
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G3-2

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:05 127 130.0 2. 808 S| {Ri%@06:05 Bz (KRFAERSE)
06:55 127 130.0 2.808 E  1BRi%e06:55 BE1 (RAERRE)
07:50 127 130.0 2.808 E|  {Ri1&e07:50 B3h (RFE{ERLEE)
08:55 127 130.0 2. 808 = {Ri%@08:55 Bz (KRFAERSE)
09:45 127 130.0 2.808 F BRi%e09:45 BEl (RAERE)
10:35 127 130.0 2. 808 5| {Ri%@10:35 B3 (GRAERSE)
11:35 127 130.0 2. 808 = {Rige11:35 B (REAERSE)
12:45 127 130.0 2.808 E BRige12:45 Bz CGRAERESE)
13:45 127 130.0 2.808 F BRige13:45 Bz CGRAERSE)
14:30 127 130.0 2. 808 = RRiB014:30 Bz (RFAEESE)
15:20 127 130.0 2.808 F BRi&e15:20 Bz (GRAEREE)
16:15 127 130.0 2.808 El BRi&e16:15 Bz CGRAERESE)
17:15 127 130.0 2. 808 =l RRiBe17:15 Bz (REAEESE)
23t|1651.0 (13%) 1690. 0 ZHKEC: 2500.0, PH: 6.5

large discrepency for begining water status (253:90.0), set to 253 ml
REXEBIPH (10.53) H5i&EPH (6.5) RER KA, HFHRE

REXJEBIPH (10.53) 5FMPH (6.5) RERK, EHRE

BEEIRECE (2737.0 vs 3937.0)fRe

EXGEBIPH (10.4) 518 %EE (6.5 RERK, FRE.

ERGEBIPH (10.4) S5iREE (6.5) REKK, HRE.



G3-2_0, Day=27 (2025-06-08)
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HEIRECE (2672. 0 vs 3540.0) s
LORGEBIPH (10.5) 5i&EE (6.5) wERKK, BRE.

LOREBIPH (10.5) S5HREIZEN (6.5) RERK, BRE.
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